by xRy < 2x%-3xy + y2=01is: 1£

{A) symmetric but not reflexive (B) only symmetric r ')
(C) not symmetric but reflexive (D) transitive A ( v /
o -~
1 —tan® 1 tand Y _|a -b l
H It tan® 1 —tanod 1 B then: ‘t f
(A)a=b=1 (B)a—coﬂe b—51 %\\

(C)a=sin20,b=cos20

cosx x 1
Let f(x) =|28inx x* 2

tanx x 2 .
(A)-1 (B)O (C)2 (D) f

If f(x) = 11m (sinx)™, theaks J
mmuous at X = —

“\
(A) continuous at x = i J (B) disconti
-

T
(C) discontinugu8 #\ =5 (D)All of the above
-

2 gﬂf ~1<x<y3
i'F, J3<x<2/3

afLet_f(g J

< 3¥x ; 2/3<x<4
Fhen the points where f(x) takes maximum and minimum
svalues arg:
(A1, 4. (B)0,4 (C)2,4 (D)4, 3 A

E‘f ﬁf(x) x = f(x), then I{f(x)}z dx is equal to:
»>

r 5
@ {0y ® o (© @ (D) {fx))’

UCN/2011/XI1 (PCM) m
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Ss:XwpcM)  Unified Con uijl: i
If the papers of 4 students can be checked by any one of

the 7 teachers, then the probability that all the 4 papers
are checked by exactly 2 teachers is:

2 o 12 3 6
(A7 ® 7 © 343 D) 19 '
A tetrahedron has vertices O (0,0,0), A (1,2,1), B (2, ],‘ = /
and C (-1, 1, 2). The angle between the faces OAB r
ABC is: }

-—

19 (17 A 3
(A) cos™ [35} (B) cos 1{3 }(C) 30° < _(p) 90° 4 i\k_ r
The area bounded by the curve y 5f{x), = x andy:l*g lines

x=1,x=tis (t+m)_.\/§_

f(x) satisfying f(x) > x for all x 5> 1, thén f(x) is equal to:

I—r" 4

1+x

for all ¢ > 1. If

X
1+x* B)X+

X
(C)1+\/— ‘{ (D)

1+x?

(A)X+1+

m The dlﬂ"erentlatl tquatlon representing the family of the

curves y* = 2(6: , where ‘¢’ is a positive parameter,
is of: ‘
(A) ordéh} ,_degree 3 (B) order 2, degree 2
(C) order ee 3 (D) order 4, degree 4
Let f(x) =L >— [x] , xe R,then the range of f is:
 , 1+x-[x]
- _
1 1
(A) [0, 1] B %35 ©]95 (D) (0, 1)
' ! f oo s 1
-1
R/ﬂue of rgotan \m} is equal to:
Az BT ©F D) 7
(A) 2 ( 1 4 (D) 1
UCN/2011/XII {PCM)
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A .'.. ; I__ \ ..i'.'l. IE&; h{-".-_j,h,-lﬁ-;"?" .-'Etf

If A= 0,for some value of k,
@ -AP=I+A+A%+ ...+ AXL thus p is:

(A is nilpotent with index k)

{(A)-1 (B)-2 (C)-3 (D)4 1
m Which of the following could not be true if f"(x) = x%? r/

(A) fx) = -3 (B) f(x)*—é E 7 '{ "*

____1_ _-4/3 ' _ 2, 2/8 i "' '

c) £ (x) 3 (D)f(x)izx +6;!k r

Letf(x)>OVxeR and g(x) = £(2 +_(4+$,ﬁé'ng(x)
.

is lncreasnlg in:

[

(A) (o0, —1) (B)
(©) (-1,%) D) (-2, )M,

i Of the 25 questions in a*l it, a stude worked out

only 20. In a sessional of that unit, two questions
were asked by the ®egther. The probability that the
student can solve h the questions correctly, is:

(A)8/25 (B)N 5 (C)9/10 (D) 19/30
m The volume®o e tetraheron whose vertices are with

position/vec 1 6_] + 10k ~i- 33 + 71{, 51 - _] +1k and

71 i 4’ 18 ﬁl cubic unit if ), equals:
(A) 3 J (B)3 (C)Y7 (D)-1
m If for thelhfferentlal equation y' =Y, +¢ [5] the general
x

u

> _E_ x* -y
7.9 S (B) - (©) 52 D)

UCN/2011/XII (PCM) B
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-%'?m.f 4':'%\% w""‘t" IJI;IL}'&;- .-:-..-1--";-= i

mLeta-1+23+k b=i-j+kandc=1i+j-k.Avector in the

C . L,
plane of a and b whose projection on ¢ is T is:

(A) ~di+j-4k B)3i+j - 3k , (
(C)i+j~2k (D) 4i +j — 4k /)
Zﬂ If 2 and 3 are unit vectors and @ is the angle betw@
— h '
them, then 3 2 b is: ,: ‘q. ‘r
L ( P

0 . )

(A)sin— (B)sin 9 (C)2 sl )sin 28,

2

If £(t) = /T, g(t) =t/4and ht)
for g (f (h (t))) will be:

 *o
(A) 1/%2 ﬂQ 2Vt -8
ORI W

4 4
. e {\ |
oA If A=2tan” ((JE’ e ) and B =3sin™ [%J+ sin™ {g], then:

(A)A = B} 1 (B)A<B
oA =} (D) Both A and B

;23 The coefﬁ of x in the expansion of

, then the formula

(C)

e (@F0* L+ Q+x)%
i+ x)® @+ Q+x”
aQ+x* @+x%® @+
)22 . (B)-22 (C)0 (N1

1S;

UCN/2011/XII (PCM) E
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1
and g (x) = —3, then points of
X

(x - 1)(x - 2)
discontinuity of f (g(x)) are:

1 1 1 € &
-1,0,1, - —=,=1,0,1, ¢
<A’{ 75} ®f % 35}_.. N/
kY
(©10,1) OOy

(A0 (B) —x (C) D) 2007 =

@ A bag contains 80 envelopes of whichf30 are airmail and

the rest are ordinary. O{: of the 80 e
48 are stamped and the are unstgmped. There are 20

unstamped ordin nielopes in the bag. If one envelope
is chosen at rando the bag then the probabilities

that this is an ped airmail envelope is:
W= e © = ) =
80 (‘ 80 80 80

E Solut&o of diﬁ:;l-ential equation

? (x cos X ;‘s'? x) dx = % sinx dy is:
N [(A)sinx Jﬂ
| ¢

Ixy| +c (B) In Slzx —y+e
sinxf cosX|
© 5l © D)) i

I '1. F
E' ?Jnsider the parallelopiped with sides a = 3i + 2j + Kk,
=i+j+ 2kand ¢ =i+ 3j + 3k then the angle between ‘a’
and the plane containing the face determined by ‘b’ and

‘e 1s:
(A)sin! 1/3 (B)cos? 9/14 (C)sin19/14 (D) sin 2/3
UCN/2011/XII {(PCM)
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mlf|a| ‘b‘=3‘c]=4anda+b+c=0thenthevalueof
b.c+c. a + a. b is equal to:
(A) 19/2 (B)-19/2 (C)29/2 (D)-29/2

BOT 1t the pair of lines represented by the equation
CB6x* + 17xy + 12y2 + 22x + 31y + 20 = Obe2x+3y+p= Oand - /
3x + 4y + q = 0, then:

(A p+q=19 (B)p*+q=41 (C)3p—2q=22 (D)4p~— 3q~f1

S1RE IJ‘5 then I equals: AL Y
= 1 (x-3) el en 1 equals: (1 T\ r
1. 5 1 1 5
= log — 2 log= = .
(A) 5 log 2 (B) g2 (C) 5 log ) 2log 3

Ifasin’x-bcos'x=c,thenas c9s'x is equal to:

nab+cla—b)
a+b

nab +c¢(h-2a)
a+b

(A)0 (B) ©5 ‘o

The inverse of a skew )znn&trlc matrix of odd order is:

(A) a symmetric mat (B) a skew- metric matrix
(C)diagonal matrix 1- (D) does not exist
x 3 6 4 1 4 5 x
F
i3 6 x|=| 7, 2(=|s x 4/=0, then xis equal to:
6 x 7 ]z‘ x| x 4 5
¥ Ll
(A)9. v (B)-9 (C)0 (D)1
ﬁ If cos™ [x = ]: log a, then dy is equal to:
xT+y dx
x2 2
() (B) - (C) (D) 5

H’Ae*po t(s) on the curve y° + 3x* = 12 y where the tangent

'!‘,'Pertlcal is/are:
+\/1_‘1 1
(A) (= 4/4/3, - 2) (B) [‘ 3’ ]
4 2
(C)(0,0) ©) NS
UCN/2011/XI1 (PCM) 41|
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EI I= J-\/}5+3x dx, then I equals:

1 (x +2)

(A 3yx-1)(x+2)+ % log
(B) 3Vx" —x -2 +% log

x+%+\](x~1)(x+2)

R

x+—1—+x/x2—x—2\+c "‘{ '.H
’ ¢
-

+CI

©) Slog#x +—;—+\/(xu1) (x +2)

(D) 3sin™ /X_l +c
X+ 2

9
(A) — sqg. unit
\)4squm 4 )

13
(C) — sq. unit 'A (D) -— gq.unit
3‘1 If the foot of t erpendicular from the origin to a plane
is (a, b c), t en equation of the plane is:
VA
(A) E: B)ax+by+cz=3

(C) ax + mz—a +b*+c¢? D)ax+by+cz=a+b+c

A
Jet us define the length of a vector a i +bj+e i as

a|+|bj+ |e|. This definition coincides with the usual

‘\_\ A A A
definitign of length of a vector ai+ b j+ ¢ k iff:

(A) a =c=0 (B) any two of a, b and ¢ are zero
#'(?)a+b+c=0 (D) any one of a, b and ¢ 1s zero
UCN/2011/XII (PCM)
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CLASS : XII . PHYSICS

E Eight dipoles with ‘g’ as the magnitude of charges is

placed in a cube. What will be the total electric flux « ‘i
coming out of the cube? r

16qg 8q q
(A Z (B) go‘ (C) zero (D)

“%4 The electromagnets shown below are
of wires. Which electromagnet is the

E Which of the following m‘i{stalled on fhe earth’s ground?

IR &)éalftélescopes
IIi"*-ray astropomy

111. Radio telescopes
(A) T and 1T onk"‘l \ (B) Il and TII only

(C) T ;rjI on \ " (D)1, I and III

4 The inphi voltage of a step-up transformer is V, and its output
(" voltage is N wWhich graph shows correctly V, and V_?

A vi. Vo
> /\/\<Vi B
®B) 0 wﬁ\ /j :
>
»> A\ Q{’; ;’Vi
i """Vu
(D) 0 I \‘1_“{.‘; ""?"
{ N
UCN/2011/XI1t (PCM) _ E
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45 I ray of light in a liquid of refractive index 1.6, approaches

the boundary surface between the liquid and air at an
angle ofincidence i where sini = 0.7. Which of the following
statements is true about the behaviour of the light?

(A) It is impossible to predict the behaviour of the light ray on r
the basis of the information supplied -

(B} The sine of the angle of refraction of the emergent rayﬁ(l 1I"'j

be less than 0.7
- - v '

1

(C) The ray will be interna]ljr reflected

_ 1. f
(D) The sine of the angle of refraction o emergént “.ny will
be greater than 0.7.

£ Look at the circuit given belo

The resistance 6 Qy velops 24 cal s! due to the current
flowing througl'\ Find the rate of heat developed in

2 Q resistan

(A)zca';j . igcalsl (O)8cals! (D) 24 cal s

A Fina

( neutron ,C* nucleus. (Given atomic mass of ,C" =

y bindil{g energy of the least strongly bound

13.00335 U, Atomic mass of .C”= 12 U, the mass of a
’ﬁeutron 1.00867 U, 1 U = 931 MeV)

(A) 3.4 Me (B)4.953 MeV
'@ {3.8? eV (D) 1.84 MeV
iE gate can act as a building block for the digital
circuits?
(A)OR (B) AND (C)NOT (D) NAND
UCN/2011/XII (PCM)
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49 Which of the following statements is not true?

(A) In Fresnel diffraction, both source and screen are near the
aperture.

(B) In Fresnel diffraction, ray from the source and ray to the -
screen are considered to be parallel.

(C) In Fraunhoffer diffraction, both light source and scre&n
very far from the aperture. Y

(D) In Fraunhoffer diffraction, rays incident on the apflzure a.q:l '
leaving the aperture are parallel.

d .,
m Identify which one of the followin Sigh 1s i!digi:‘al?
(A) Pulse code modulation - { |
(B) Pulse position modulation J
(C) Pulse amplitude modulation :
(D) Pulse width modulation L

#:18 Two identical cells whet s joined in series or in parallel
have the same currentt ough an exj:’ernal resistance of
4, The internal Blstance of each cell is:

(A)2Q - i \ (B)4Q
1
@os2 € 75 (D)0.25Q
The s st wa}:elength X-rays photon emitted when the
X.rayst is subjected to 50 kV is ;

i
(A)2.5%10 (BY5x 101 m
(C) 75X10Mm (D)10x 10 'm

%n whlcljf the following circuits the bulb does not light
(A) | (C) E

UCN/2011/XIl {PCM}
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Eight mercury droplets having a radius of 1 mm and a
charge of 0.066 pC each merge to form one droplet. Its
potential is:

(Ay24V (B)1.2V (C)36V (D)4.8V

ﬁ The current gain of a transistor in a common emitter r /
circuit is 30. Find the ratio of emitter current to
current?

(A) 30 1 B®)31:1 (C)32:1 D)1:3
é'k!lty

E In the Young’s double slit experimeng, the g&

the screen due to the two slits
respectively. Find the intensity
dark fringes.

(A)16:1 (By3:2 (C)

its 1 unit,
ip between bnight and

(D)2:5

Vil A prism of refractive index / and apé angle A is placed

in minimum deviation pgsition. If thgfangle of minimum
deviation is equal to hl an le A, then what is the value
of A?

(A) 2c087 | = (B) 2cos™ [%}

() 2

e
(E Which layer'of the ionosphere disappears at night?

iA) F, - Layer (B) E — Layer
©OD-L yer (D) F, — Layer

In the re given below three long straight and parallel
co-hductors X, Y and Z carrying currents of 3 A, 1 A and i
m respectively. I

UCN/2011/XII (PCM) , 46|
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3AJ‘ IA“ - 2A

3 cm 4cm

- q’
If the length of the wire Y is 0.5 m, then what forct
experienced by it? -

(A) 10° N from left to right ~ (B) 10° N from zight foléft
(C)5x 105 N from left to right (D)5x 104 righ t) %ﬁt
! i

m According to Maxwell’'s hypothgsis a changing électric

field gives rise to:
(A) changing magnetic fleld (B) changing e}ectric field
(C) an e.m.f. (D) gravitatiohal fie)d

If x and y are the distance‘:‘ L@n object dnd its image from

the focus of a sph mirror (fog’al length f), then
identify the correct atlon between'x, y and f.

p:4
(W xy =f ?BMs&:fz ©ay=f D) =f

E What W:ﬁ be t}ﬂe ‘change in the resistance of a circuit

onsis g of 5 similar conductors if two similar

conducto‘j
v
f R, and [R, are resistances in two cases respectively,

then findjthe ratio of R, to R .
il 54 (B)2:5 (C)1:2 (D)3:5

e added as shown in figure.

>
A ﬁlrallel plate condenser with plate A is filled with two

dielectrics K and K, occupymg equal space lengthwise
as shown.

¢-
B\ F
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+Ve

~Ve : - |
If the separation between the two plates is &’i(ir ea
dielectric, then find the capacity €,

A(K;+K,)

(4) C === (B)
K
©C=2% A(i{‘ ) ofc
m A horizontal wire AB of mass 3x10° kg gth one metre

carries a current of 9.8 A.%fhe wire lie

acting perpendiculasg{ofthe wire. Wh

the field which can'ﬁxp rt the wei
-

the magnetic field
is the magnitude of
t of the wire?

(A)3x107°T (B) 3x102x9.8T
< ‘l\ '
3%107® "1(1 “N 1
© A | ® 506"

<% \r‘V’l:lic'inqh the foilowing statements regarding zener diode

is irue

24,
\ (A) A zer}r can operate only in the forward biased condition
-
.

*(B) Zener breakdown occurs when applied voltage is less than
zenet breakdown voltage
(C) Thefeurrent in the zener region is in opposite direction to

1 that of the forward biased diode

. @) Zener diode is used as a half wave rectifier

UCN/2011/XIl (PCM] 48|
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ELASS Lg CHEMISTRY

Tl
S et el

In a face centered cubic arrangement of atoms A and B,

atoms A are present at the corners while atoms B are
present at the face centres. One of the A atom is missed
from one corner in the unit cell. The simplest formula of
the compound is:

(WA, B, (B)AB, (©A,B, MA,B,
-
Which of the following statements is/are correcty? 4
. .

(A) Frenkel defect is usually favou-‘ed y a ‘ei‘yﬂmlnall
difference in the size of cation and ami ‘F

(B) In Frenkel defect excess cations #ecupy terstiti!ﬂl sites.

(C) Trapping of electron in the latfice 1dads fo the formatioiu
of F' - centre.

(D) Schottky defects have no effects on th§ pliysical properties
of solids. ' y.

Q

The freezing point of a soMition containfing 0.2 g of acetic
acid in 20 g of benzene'ﬁ‘l ered by 0.45 °C. Calculate the
degree of associatior' etic acid irf benzene. Assume
acetic acid dimerizegs in benzene. (K, for benzene =512 Kmot kg).

(AY0.945 - (B{0'\523 (C)0.122 (D)0.678
-
The followingga}e" the standard reduction potentials of
the half eléctr dif
A i_. ﬂ*j'f 2e™ r—b— Zn{s); Eo‘—‘ - 0.762 V
i. Fe* —  Fe’,; E°= +0.77V
iil. 2H* fe™ —>  Hy,;  E°=  0.000V
v, cr+3i 3¢ — >  Cre; E°= -—0.740V
ich is 32 strongest reducing agent?
)Cr (B)Zn (C)H, (D) Fe*?

e s pecific conductivity of N/10 Kl solution at 20 °C is

0.0212 ohm™ ecm! and the resistance of the cell containing
this solution at 20 °C is 55 ohm. Calculate the cell
constant.

(A)3.324em™ (B) 1.1668cm™ (C)4.616 cm* (D) 2.173 cm!

UCN/2011/XIl (PCM) m
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A graph representing a reaction A—nb with time.
Calculate the equilibrium constant and n values.

) 1
< f \:
ig" 0.6 . ] —————i o ‘{ - TL
g ' R
E 03 —— - N ';

O L | \
% k r
L] ¢
1 2 3 4 5 8 b
Time/ho }
K, n
(A) 2.4 mole/lit 2

(B) 1.2 mole/lit? 1
(C) 2.4 mole/lit? 4/1
(D) 1.2 mole/lit <

For a first order r&*ti n, the graph of log [A] versust is
given below: -

[ ‘x
r
(‘1 Al Slope=x

What is
-. . 0.693 K K )
.. | - -
. K B o508 © 253 DleslAl
( 1
> r .
UCN/2011/XIt (PCM) : m
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. T T e e T e L"H r.\,.

Temp ——->»

Bld—»

(&)

Temp——» 4

Based on following®ElWlingham diagram, indicate the
temperature favoujable or the reduction of metal oxide

to metal.
| *J
F
’ ] | | 1 |
r 50 100 150 200 350 300 350
- Temp ‘C——>
(A) B0 (B) 200 (C)150 (D) 100

as'_ ’ is passed through water to form a saturated

mssolution. The aqueous solution on treatment with silver
nitrate gives a white precipitate. The saturated aqueous
solution also dissolves magnesium ribbon with the
evolution of a colourless gas ‘Y. Identify ‘X’ and Y’ ?
(A)X=C0,, Y=Ci B)X=Cl,Y=CO,
COX=Cl,Y=H, DyX=H, Y=Cl,
UCN/2011/XIl {(PCM)
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m The given compound is used as:

' 1
@ COOH "( t‘

- ‘?
0CO CHj, <\ \
(A) Antiseptic (B)Antibiotic (C)Analgesic (D) Pesticide_,' | I
Three compounds are given below. <! '

L CIOH 1I.LBroH 1Lioa €~

Py
Identify the correct order of decregfing acid str@s;'th for
the given compounds. ~r|'
(P) 1, 111, 11

(AT, II, 111 BYILLIIT (CIEILI

m Which one of the following stat ment rggarding Helinm
is incorrect ?

(A) It is used to fill gas ball instead of gen because it
is lighter and non-infla le.

B) It is used in gas-caol® duclear reactors.

(C) Ttis used to produ d sustain powerful super conducting
magnets.

(D) It is used a8 ogenic agent for carrying out experiments

at low tem ra‘f

Which oij_he fo mg does not possess S-S bond ?
A)so‘i 502  (©S0r  (DS,0r

1 Ais added to a hot oxalic acid solution, the

decolon tlon is slow in the beginning, but get
accelerated after a while. This is because:

) reactiod is exothermic  (B) CO, is formed as a product
(C) Mn catalyses the reaction (D) Mn*? acts as an auto catalyst

ssertion: Both [Pt Cl, (NH,),] and [Pt (NH,) ] Cl, forms
lectrically conducting medium in aqueous solution.

Reason: [Pt (NH,),] Cl/,is a complex compound and
furnishes ions in solution, [Pt CI, (NH,),] does not furnish
ions in solution.

UCN/2011/XIl {(PCM) E
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{A) Both Assertion and Reason are correct, and reason is the
correct explanation of Assertion.

(B) Both Assertion and Reason are correct, but reason is not
the correct explanation of assertion.

(C) Assertion is correct, Reason is incorrect. r
(D) Assertion is incorrect, Reason is correct. / )

¥ The hybridisation and magnetic moment of a cor'){ex s '-’
compound [Cr(NH,) 1** is:

Hybridisation Magnetic moment 4 { v ' |
(A) sp® 1.78 B ( ~% r
(B)  spdd2 . ) 1
©) @ sp? BM ¢

(D) & sp® 2.28|BM )
i In the chemical reaction:
CH, CH, NH,+CHCI, + 3 KOH—{A)+(
Identify the compounda( ) and (B).
(A) C,H, NC and 3 KCl B) C,H, C and 3 KCl
(C)CH, CH, CONH, and 8 K81 “(D) czHﬁN and K,CO,
84 _'5 Study the reacticméiven below.

+Mg H
fx *——a~Y-——pz
(1 le) H0

Iden n the above reaction.
COOH
Cl ’ COOH COOH
) @ (B) (©) O D) %/‘
COOH COOH
Y H
HO
85 I CHCIg /alc, KOHA} is called:
Im H®
UCN/2011/XI1 (PCM) E

www.examrace.com



-

(A) Gattermann Koch synthesis

(B) Gattermann synthesis

(C) Houben - Hoesch reaction

(D) Reimer - Tiemann reaction \

E In the given reaction: l( ")
HO OH | - /

) Zn | <9
+X » CH,~CH— CH,— COOCH, ' > I

ii) H,O/NH,CI |
What is X’ ? e q° |
(A) CH,—COOC,H, (B) CH 3 A

Identlfy A and B in the glven eactidy

A £
(A) HI + RedP 4 q;
(BYNVA I-I .
(C) Pd - BaSO, . { Zn + HCZ
(D) LiAIH, e HI + Red
m Which of the following compounds will form primary
alcohol with, 2/conc HCI?
CHj3 — CH— NII;
Y Cﬂ!f @
CH,
(C) CH; — NH, (D) All of the above
ﬂ émylose and Cellulose both are linear polymers of
',.glucose at is the difference between them?

(A) Amyloge has § (1 — 4)linkage and cellulose has ¢(1 — 4)linkage.

(B) Amyldse has o.(1 — 4) linkage and cellulose has f (1 — 4)linkage.
'C)l\mylosehas a.(1 — 4)linkage and cellulose has o (1 — 6) linkage.
() Amylose has f (1 — 4) linkage and cellulose has p (1 — 6) linkage.

Which of the following is an optically inactive amino acid?
(A) Lactic acid (B) Serine (CYAlanine (D) Glycine

UCN/2011/XIl (PCM) m




CLASS : XII

| Complete the given series.

G ON®

P Q R S

(A)O (B)O' (C)‘C (D)C ;l"

E In a certian code INSTITUTION is wrf}l

:.-f.'-:itt.ll'.'.ll;". ;_"_..":,".:-,I: ,, i :.:'_:'} i £ .".'., oA A oy .!_.' i
s e Lfﬁwﬁﬂ{ﬁ
GENERAL QUESTIONS

NOITUTITSNL How is PERFECTION written i
(A) NOICTEFRED (B) NOTICEFREP (
(C) NOITCEFERP (D) NOI BP

93 Complete the given series. 5
o 15, 5,17, 7, 19, 9421,?

(A) 23 (B)13 €)1k JD)25
fA A very much publicized treatment IT(',QLOI “DOTS” is

" being adopted for the cuf® %f:
(A) Dementia (B)Tetaals (O) Tuberculdsis (D) STD’s
gﬁ Euthansia (Mercy k‘l in®) was first le(galized in:
" (A) Switzerland (B) Melland (C) France (D) Italy

Where is “Na{i&-&l Defence Academy” situated in?
(A) New Delhi (]g)’Khadak vasla (C) Dehradun (D) Pune
2

Who wak elec 'd as the permanent president of
t assembly?

idanand Sinha (B) Dr. Rajendra Prasad

bedkar (D) C. Rajagopalachari

To win a rand-Slam in Tennis, a player has to win:

(A) Australian open, Wimbledon, The French open, The US open
3) Wimblgdon, The French open, The US open
(C) Wimbledon, The French open, Pegas Czeck Open, The US open
(D) Davigfeup, Wimbledon, The French open
w e international court of justice is located at:
(AfGeneva (B) Hague (C) Amsterdam (D) Vienna

m Who is the Author of an “An Area of Darkness”?

(A) Nirad C. Choudhari (B) Vikram seth
(C)V.S. Naipaul (D) B.C. Chatterjee
UCN/2011/XIi (PCM) 55
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1. C 2. B
9. A 10. A
17. C 18. D
25, A 26. A
33. D 34. B
41. C 42. D
49. B 50. A
57. A 58. B
65. C 66. C
73. A 74. B
81. D 82 C
89. B 90. D
97. B 98. A

yé ,Y

.

v
-

3. D 4 D 5 B 6. A 7. D 8 A
1. C 12. A 13. A 14. A 15. C 16. D
19. A 20, A 21. A 22. € 28C 24, B
27, C 28, C 29 D 30. B 31. A 32. D
35. A 3. D 37. A 3. B 39. C 40. B
43, C 44 B 45 C 46, B 47. B  48. D
5. B 52. A 53. C 54, A 55. B 56. C
59. C 60. A 61. B 62. D 63. B 64 A
67. C 68. A 69 B 700. B 7. D 72. C
75. € 76 C 77 A 78. A 79. D 80. D
83. A 84 A 85 D 86. C 87. D 88 C
91. A 92. D 93 C 94, C 95. B 96. B
99, B 100. C '
R ™
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